Name __________________________ 

Date _____________________ 

BUILDING AN ATOM MODEL 
Question: How can a model represent an atom? 

Why can a model be helpful for understanding atoms: _________________________________________________________________________ 

_________________________________________________________________________ 

Materials per group: 
___ _________ marshmallows for protons 

___ _________ marshmallows for neutrons 

___ _________ marshmallows for electrons 

sheet of construction paper 

ten toothpicks 

one 12” piece of yarn or string 

one plain white index card 
Procedure: 
1.  Pick an element name from the hat.  On the white part of your index card, you need to make a periodic table block for your chosen element.  This should include the symbol (in large print), name, atomic number and atomic mass.  Using what we learned yesterday, figure out how many protons, neutrons and electrons your atom should have.  Fill in under materials the number of marshmallows needed for each of the particles. 
2. Next, look at the board to fill in the color of marshmallow for each of the particles. Use the colors that the class agreed upon. Fill this in next to the marshmallow number under materials. 

3. Gather together all necessary supplies that are listed above. Make sure to get your index card checked by your teacher before getting supplies. 

4. Put your protons and neutrons into a clump. They should be intermixed.  Attach them using the toothpicks. Get more toothpicks if necessary. If you have extras, please return them. 
5. On the construction paper draw a circle that is about 5 inches in diameter. Now draw two more circles outside the smaller one, so that there is about one inch between the rings. Look at your index card drawing to see if your atom has more than two rings. If so, draw one more circle outside the largest one, again leaving about one inch between the rings. Cut out the rings when finished and throw the inside scrap away. 

6. Begin by gluing your electron marshmallows on the inside ring; remember it can hold up to only two. Next, glue the rest of the marshmallows on the second ring. It can hold up to eight. If you still have electrons left over, glue them onto the third ring. 
7. Tie string around the center of the nucleus marshmallow blob, making a tight knot. Now place it inside the smallest ring. Set the other rings around the smallest one, leaving even spaces between each ring. 

8. Have one person hold the nucleus and rings down, while the other person ties the string around each piece. Be sure to tie secure knots. Then tie the end of the string through a hole in the bottom of the index card (make the hole with a pencil point). The final product should look like a mobile of rings with the nucleus in the center, and the card hanging at the top. 

Conclusion: 
How do the different model parts represent an atom? _______________________________________________________  

______________________________________________________________________________ 

______________________________________________________________________________ 

